F | S H B ON E §%ﬁ%‘\?& INSTALLATION INSTRUCTIONS

OFFROAD

9 PART No. FB21094

—Zh W . ]
77 et Fits Standard Fairleads
Winch Line “Fishhook”

REQUIRED TOOLS KIT CONTAINS QTY

5/16” Allen Wrench Winch Line “Fishhook” 1

11/16” Wrench M10 Socket Head Screw 2
3/8” Lock Washer 2
M10 Hex Nut 2
3/8” Flat Washer 2

1. PREPARE 2. INSTALL
Remove any fairleads currently installed on your
bumper. If needed, disconnect your winch hook.

Slide your synthetic rope through the Fishhook’s
cable slot followed by your winch’s fairlead.

2109400


https://www.carid.com/fishbone-offroad/

F | S H B ON E fﬁ%‘?‘ INSTALLATION INSTRUCTIONS

OFFROAD 2

PART No. FB21094

Fits Standard Fairleads
Winch Line “Fishhook”

3. FINALIZE
Wrap the excess synthetic rope around the rope
support and resecure your winch hook.

Holding the two parts together, place them up to
your bumper and into place using the two included
bolts lead by a flat washer.

Enjoy your Fishbone Offroad Winch Line
“Fishhook”!

With a 5/16” Allen wrench or hex bit socketnd an
11/16” wrench, secure the Fishhook with a lock
washer, followed by a nut.

Discover other winches and accessories on our website.


https://www.carid.com/winches.html

